Fort Bend County Tabulation RFQ 2011-04 Uniforms for Constables, EMS, Sheriff's Office, and Fire Marshal Awarded to: Lonestar Uniforms 09.02.10 Term: 1 October 2010 through 30 September 2011 Renewed: 1 October 2011 through September 2012 Changes for 2012 Addition of Fire Marshal Items 08.04.11

CONSTABLE PRECINCT ONE		Estimated		Extended
309 S. 4th Street, Ste. 117	Lawson	Annual	Unit	Annual
Richmond, TX 77469	Item	Quantity	Price	Cost
Elbeco E314 or E9314 Tex Trop navy, 100% Polyester				
pant with ¹ /2"navy on red piping	6528	6	\$35.00	\$210.00
Elbeco Z310-3 or Z9310-3 Tex Trop white, 100%				
Polyester long sleeve shirt with zipper and star buttons	8857	6	\$37.00	\$222.00
Elbeco Z310-3 or Z9310-3 Tex Trop Navy, 100%				
1 V	6529	6	\$37.00	\$222.00
Polyester long sleeve shirt with zipper and star buttons	0529	0	\$37 . 00	\$222.00
Elbeco Z33103 or Z9810-3 Tex Trop white, 100 %				
Polyester short sleeve shirt with zipper and star buttons	00/0	r.	**	****
	8862	6	\$35.00	\$210.00
Elbeco Z33103 or Z9810-3 Tex Trop Navy, 100 %				
Polyester short sleeve shirt with zipper and star buttons				
	6530	6	\$35.00	\$210.00
Edwards 2610-75 or 8610-75 "Sand" pleated pant	6531	6	\$24.00	\$144.00
Dutyman J23 navy windbreaker with removable liner				
	6532	6	\$60.00	\$360.00
Dutyman J43 navy winter coat with liner	6533	6	\$90.00	\$540.00
RN 100330 MTS raincoat 48" black/green reversible				
with Constable on both sides	6534	6	\$130.00	\$780.00
Wrangler 49442 short sleeve, light denim, shirt with				
embroidery	6535	6	\$30.00	\$180.00
Wrangler 49460 long sleeve, light denim, shirt shirt				
with embroidery	6536	6	\$32.00	\$192.00
Port Authority #S600T, 100% cotton twill long sleeve				
shirt, Navy, up to 6XL (embroidery over pocket).				
	6537	6	\$31.00	\$186.00

Embroidery, all capital letters, white or dark blue, 5/16 to read, right caller CONSTABLE left caller				
5/16" to read: right collar – CONSTABLE, left collar - PCT 1	6538	6	\$7.00	\$42.00
Patch including Sew on:		6	\$0.00	\$0.00
Gilden Jacquard Pique 31000 Polo, short sleeve, white/navy, pullover with embroidery on collar and left breast.	6640	6	\$31.00	\$186.00
Gilden Jacquard Pique 31000 Polo, short sleeve, navy/white, pullover with embroidery on collar and left breast	6641	6	\$31.00	\$186.00
Baseball caps, five (5) panel, navy blue, Velcro closure	6642	6	\$12.00	\$72.00
Embroidery of badge on caps in silver or gold	6643	6	\$7.00	\$42.00
Name Plate Pendant, Blackinton:	7906	6	\$9.00	\$54.00
C.D. Pendant, Premier Emblem	7907	6	\$6.00	\$36.00
Star Pendant, Blackinton	7908	6	\$80.00	\$480.00

CONSTABLE PRECINCT THREE 12803 Park One Blvd. Sugar Land, TX 77478	Lawson Item #	Estimated Annual Quantity	Unit Price	Extended Annual Cost
			_	
Elbeco #E314, 100% poly, navy, pants with striping	6555	6	\$35.00	\$210.00
Elbeco #Z312, long sleeve shirt, with piggyback				
shoulder Straps, 100 % Polyester	6556	6	\$37.00	\$222.00
Elbeco #Z3312, short sleeve shirt, with piggyback				
shoulder Straps, 100 % Polyester	6557	6	\$35.00	\$210.00
Blauer #S22-500 Streetgear Uniform Trousers, dark				
navy	6558	6	\$59.00	\$354.00
Blauer #S22-500 Streetgear Uniform Shorts, dark navy	6559	6	\$51.00	\$306.00
#JA011 Ansi Class 3 Water proof jacket, orange with				
CONSTABLE on the back	6560	6	\$125.00	\$750.00
Patch including sew on	7909	6	\$0.00	\$0.00
#511-73285728 5.11 Tactical shorts, Navy	6562	6	\$32.00	\$192.00
Elbeco #39400, reversible jacket, complete w/lettering,				
patches & badge sewed on	6563	10	\$150.00	\$1,500.00
Blauer #8810 BDU Pants	7910	10	\$59.00	\$590.00
Blauer #8841 BDU Pants	7911	10	\$51.00	\$510.00
#0250GY MOCEAN Grey Shirt with name				
embroidered on right	7912	10	\$74.00	\$740.00

CONSTABLE PRECINCT FOUR	Lawson	Estimated		Extended
12919 Dairy Ashford Ste. 300	Item #	Annual	Unit	Annual
Sugar Land, TX 77478		Quantity	Price	Cost
Perfection Uniforms #2680CG Ohio Style Sheriff				
pant, 100% Polyester	6564	6	\$45.00	\$270.00
Perfection Uniforms #2000BK Zipper Front, long				
sleeve shirt, 100% Polyester	6565	6	\$37.00	\$222.00
Perfection Uniforms #2300BK Zipper Front, short				
sleeve shirt, 100 % Polyester	6566	6	\$35.00	\$210.00
Gerber #71D3/L Winter Jacket with Zip in and out				
liner, Reversible to lime green	6567	6	\$125.00	\$750.00
Blauer #733 reversible raincoat, black with lime, with				
POLICE on the back	6568	6	\$135.00	\$810.00
Patch including sew on	7913	6	\$0.00	\$0.00
Name Plate	7914	6	\$9.00	\$54.00
	5015	í.	<u>م م</u>	¢2,5,00
C.D. Pendant, Premier Emblem	7915	6	\$6.00	\$36.00
VERTX 9 oz LE Black Men*s/Women*s Canvas				
Pant Style VTX1000BK	9466		\$40.00	
Blauer #8130-BK Coolmax Black Shirt, with Badge				
Over left chest, name over RT chest, CD on LFT/RT				
collar, And POLICE in silver reflective on back.				
	9467		\$62.00	

EMS insignia - gold on silven 2/02 with out periods	Lawson Item #			Extended Annual
EMS insignia – gold or silver 3/8" with out periods			Unit Price	Cost
P868, Poly cotton, Blue, short sleeve shirt	6572	30	\$26.85	\$805.50
P868, Poly cotton, Blue, short sleeve shirt w/zipper	7916	30	\$29.85	\$895.50
P878, Poly cotton, Blue, long sleeve shirt	6573	30	\$29.45	\$883.50
P878, Poly cotton, Blue, long sleeve shirt w/zipper	7917	30	\$32.45	\$973.50
P867, Poly cotton, White, short sleeve shirt	6574	30	\$26.85	\$805.50
P867, Poly cotton, White, short sleeve shirt w/zipper	7918	30	\$29.85	\$895.50
P877, Poly cotton, White, long sleeve shirt	6575	30	\$29.45	\$883.50
P877, Poly cotton, White, long sleeve shirt w/zipper	7919	30	\$32.45	\$973.50
2600DN, pants, polyester, Navy	6576	30	\$33.25	\$997.50
3031- EMT pants, Dark Navy	6577	30	\$49.95	\$1,498.50
P868, Poly cotton, Blue, short sleeve shirt, 2XL-4XL	6578	30	\$29.53	\$885.90
P868, Poly cotton, Blue, short sleeve shirt, 2XL-4XL w/zipper	7920	30	\$32.84	\$985.20
P878, Poly cotton, Blue, long sleeve shirt, 2XL-4XL P878, Poly cotton, Blue, long sleeve shirt, 2XL-4XL	6579	30	\$32.40	\$972.00
w/zipper	7921	30	\$35.69	\$1,070.70
P867, Poly cotton, White, short sleeve shirt, 2XL-4XL P867, Poly cotton, White, short sleeve shirt, 2XL-4XL	6580	30	\$29.53	\$885.90
w/zipper	7922	30	\$32.84	\$985.20
P877, Poly cotton, White, long sleeve shirt, 2XL-4XL	6581	30	\$32.40	\$972.00
P877, Poly cotton, White, long sleeve shirt, 2XL-4XL w/zipper	7923	30	\$35.69	\$1,070.70
Dickie 874DN, pants, Navy, 44-56	6582	30	\$24.50	\$735.00
2600DN, pants, polyester, Navy, 44-56	6583	30	\$39.90	\$1,197.00

3031- EMT pants, DN, Navy, 44-56	6584	30	\$59.95	\$1,798.50
1211U-belt, black, no scratch	6585	30	\$14.95	\$448.50
Blauer 339, Safety vests with Scothlite Package front				
and back, EMS-3" in non-reflective on front and back,				
with FORT BEND-2" non-reflective on back	6587	30	\$48.50	\$1,455.00
Blauer 339, Safety vests with Scothlite Package front				
and back, EMS-3" in reflective on front and back, with				
FORT BEND-2" reflective on back	6588	30	\$53.50	\$1,605.00
Gerber, Viz-Tech Parka Jacket, Lime Yellow with				
scotchlite package with zip out liner, FORT BEND-2",				
EMS-3" on back reflective	6589	30	\$189.50	\$5,685.00
Gerber, Viz-Tech Parka Jacket, Lime Yellow with				
scotchlite package with zip out liner, FORT BEND-2", EMS-3" on back reflective, 2XL-4XL	6590	30	\$227.50	\$6,825.00
EWIS-5 OII Dack Teffective, 2AL-4AL	0590		\$441 . 50	\$0,823.00
Lettering on back with FORT BEND-2", EMS-3",				
20% O/S	6591	30	\$24.00	\$720.00
Neese 1820J, Jacket-30" Hi Vise Yellow with	0071	50	φ 2 4.00	ψ120.00
scotchlite lettering on back with FORT BEND-2",				
EMS-3", 20% O/S	6592	30	\$32.50	\$975.00
Neese 1820J, Jacket-48" Hi Vise Yellow with				
scotchlite lettering on back with FORT BEND-2",				
EMS-3", 20% O/S	6593	30	\$33.50	\$1,005.00
EMS insignia – gold or silver 3/8" with out periods	6594	30	\$9.95	\$298.50
TDH emblems, EMT	6595	30	\$4.00	\$120.00
TDH emblems, EMT Intermediate	6596	30	\$4.00	\$120.00
TDH – PARAMEDIC, LICENSED or certified				
PARAMEDIC	6597	30	\$4.00	\$120.00
8097 Micro fleece jacket, reflective Scotchlite package				
around arms front and back with tackle twill FORT				
BEND 2" arched and EMS 3" on back. All Scotchlite				
and tackle twill must be hand sewn	6600	30	\$73.50	\$2,205.00
1325LB-Perfection, Shirt-Blue, Poly Cotton, S/S,				
Emblem Left Shoulder	6602	30	\$28.95	\$868.50
1325LB-Perfection, Shirt-Blue, Poly Cotton, S/S,			7	
Emblem Left Shoulder w/zipper	7924	30	\$31.95	\$958.50
1025LB Perfection, Blue, Poly Cotton, L/S Shirt,				
Emblem on Left shoulder	6603	30	\$31.45	\$943.50

1025LB Perfection, Blue, Poly Cotton, L/S Shirt,		20	****	¢1.022.70
Emblem on Left shoulder w/zipper	7925	30	\$34.45	\$1,033.50
1325WH, Perfection, Poly Cotton, S/S Shirt, Emblem				
on Left shoulder	6604	30	\$28.95	\$868.50
1325WH, Perfection, Poly Cotton, S/S Shirt, Emblem				
on Left shoulder w/zipper	7926	30	\$31.95	\$958.50
1025WH, Perfection, Poly Cotton, L/S shirt, white,				
Emblem on Left shoulder	6605	30	\$31.45	\$943.50
1025WH, Perfection, Poly Cotton, L/S shirt, white,				
Emblem on Left shoulder w/zipper	7927	30	\$34.45	\$1,033.50
1625DN Perfection, pants, 65/35 Poly Cotton with				
H2O Technology	6606	30	\$49.95	\$1,498.50
1625DN Perfection, pants, 65/35 Poly Cotton with				
H2O Technology size 44-56	7928	30	\$54.95	\$1,648.50
Gildon, polo shirt, 50/50, dark navy with pockets	6647	30	\$25.75	\$772.50
Gildon, pol shirt, 50/50, sport gray with pockets				
w/embroidery logo over Right chest	7929	30	\$25.75	\$772.50
	((10)	20	425 55	ф 772 го
Jersey Knit 3437, Maroon	6648	30	\$25.75	\$772.50
Embroidery logo on right/left chest		30	\$0.00	\$0.00
Gray silk screen on Back to read: FORT BEND 2",				
Arched and EMS 3 Straight in True Reflective Ink		30	\$0.00	\$0.00
Embroidery logo on left chest and name and rank 3/8"				
on right Chest	6571	30	\$14.00	\$420.00
Patch including sew on		30	\$0.00	\$0.00
A10009, Serving Since	6599	30	\$16.95	\$508.50
B2490 Name Plates	6598	30	\$9.95	\$298.50

FIRE MARSHAL'S OFFICE1521Eugene Heimann Circle #114	Lawson Item #		Unit	Extended Annual
Richmond, TX 77469			Price	Cost
Z919 WP Horace small sentry white long sleeve				
polyester uniform shirts w/zipper, w/epaulettes &		-	ta = 0.0	
pleated pockets, perfection 2000	6624	4	\$37.00	\$148.00
Z959 WP Horace small sentry white short sleeve				
polyester uniform shirts w/zipper, w/epaulettes &				
pleated pockets, perfection 2300	6625	4	\$35.00	\$140.00
32278 Fechheimer dark navy dress pants (class A)	6626	2	\$75.00	\$150.00
34891 Fechheimer/38800 Flying Cross Dark Navy	0020		<i><i><i>ψ1</i>2100</i></i>	φ120.00
dress coat, single breasted; (Class A)	6627	2	\$250.00	\$500.00
113-1611 vinyl white bell crown dress cap (Class A)	6628	2	\$37.00	\$74.00
74251-055 kaki 511 cargo pants; 74251-018 charcoal	6629	4	\$39.00	\$156.00
1790-94 Long Sleeve forest green shirt, button down				
collar	6630	12	\$34.00	\$408.00
1790-13 (09470-42) /Edwards 1280 long sleeve				
maroon shirt	6631	6	\$34.00	\$204.00
1790-05 Long Sleeve Kaki shirt	6632	6	\$34.00	\$204.00
1730-94 Edwards 1230 short sleeve forest green shirt	6633	8	\$33.00	\$264.00
1730-13 (09435-42) Short Sleeve Maroon shirt	6634	6	\$33.00	\$198.00
1730-05 Short sleeve Kaki shirt	6635	6	\$33.00	\$198.00
85015 Short Sleeve shirt cotton poly pique, Maroon,				
Grey, Blk, Blue, Green	7930	7	\$26.00	\$182.00

		1	1	
4879 Dickies Deluxe Blended Coveralls, Navy/Black	6636	2	\$49.00	\$98.00
560MBK Windbreaker Black	6637	2	\$26.00	\$52.00
71N3 Heavy Coat, Black	6638	2	\$125.00	\$250.00
Department emblem embroidered over left chest, name				
and title over right chest	6639	12	\$7.00	\$84.00
BH1980-Blackinton, 2 1/4" diameter round 5 point				
star badge, Polished Brass	7931	2	\$47.50	\$95.00
85015 Extreme CCT/Poly Pique Polo shirts, S/S				
w/pocket, maroon	8417	6	\$26.00	\$156.00
85015 Extreme CCT/Poly Pique Polo shirts, S/S				
w/pocket, green	8418	6	\$26.00	\$156.00
85015 Extreme COT/Poly Pique Polo shirts, S/S				
w/pocket, (Extreme) Black	8419	6	\$26.00	\$156.00
85015 Extreme COT/Poly Pique Polo shirts, S/S				
w/pocket,(Extreme) Grey	8420	6	\$26.00	\$156.00
Style F5243, Tactical Pant Propper, Lightweight Black	9601	8	\$35.50	\$284.00
Style F5321 Polo Shirt Gray, Propper, ICE POLO with				
Embroidery as specified	9602	8	\$36.75	\$294.00
85075 Cot/Poly Pique Polo Shirt S/S (Extreme) Grey	8858	6	\$29.00	\$174.00

SHERIFF'S OFFICE 1410	Lawson			Extended
Williams Way Richmond,	Item #		Unit	Annual
Texas 77469			Price	Cost
Badge - Silver, Blackinton	7932	25	\$48.50	\$1,212.50
Badge - Gold, Blackinton	7933	25	\$48.50	\$1,212.50
S.O Collar Pin, Silver, Blackinton	7934	250	\$7.50	\$1,875.00
S.O Collar Pin, Gold, Blackinton	7935	250	\$7.50	\$1,875.00
Name Bar - Gold, Blackinton	7936	175	\$9.00	\$1,575.00
Name Bar - Silver, Blackinton	7937	175	\$9.00	\$1,575.00
Lieutenant Bars - Large, Gold, Blackinton	7938	25	\$14.00	\$350.00
Captain Bars - Large, Gold, Blackinton	7939	25	\$16.00	\$400.00
Major Oak Leaf - Gold, Blackinton	7940	25	\$18.00	\$450.00
Chief Eagle Pin - Gold, Blackinton	7941	25	\$16.00	\$400.00
TCO I – Collar pin, Silver, Blackinton, 3/8"	8859	25	\$20.00	\$500.00
TCO II – Collar pin, Silver, Blackinton, 3/8"	8860	25	\$22.00	\$550.00
911 Pendant, Premier Emblem, Silver, 3/8"	8861	25	\$6.00	\$150.00
911 Pendant, Premier Emblem, Gold, 3/8"	8862	25	\$6.00	\$150.00